@EEEATIE® | |

®

[

OEEEO®

EROBIOHEHS 000 11..000 49. 500 6, 100 |
11, 000 11, 000 11, 000 11, 000 5,500
BAHkE 120 450 (rog) 30 (FOfE) 439 (FOF) 30 (FOfE) 439 (FOF) 39 (FOf) 700
I ey
\@ (D) 0 Ec’ = J}Bg IS I T il T T 0 T T Il T T Il T &g 0 O
"9
% %4% [ LI [ P D fol [0 [ Dos[ | [ ] faof [ [ [ fas] [ ][ fsof | [ ] |
2 LT By 580 ]
2 ° s s "I : *Tt1 ; } .
s : 2 m%%zA 2
© 7 i L 5l = -
= iy =
- . y“‘mﬁ®;f~~3\\HHHH\HHHHHHHHHHH\W*f‘—i@ -
\ \ 2 o ‘ ‘ ZaNg
\ \ s | !
\ : —Dpe [ [T TP PP PP PP PP P PPl IARA i :
\ s ARTIUT T T NAYRAR—ZR ( s
\ \ @0 S E] ﬁ I I I I I I I I I I I I I @ E I .
\ - HiJ <~> ‘106 25m (82. 1 ~
\ - 072 e A A O O I R O -
Vo BT |
\ _ I :
\ : : g sl LT PP PP P PP P[] :
\ \ o e e | =
\ : 2 ®3 ‘ ® = :
\ . . . ot PP PP =5 -
I
\ \ o ° L = |
\ e o
\ P —Bdel [ T T T T T T I I T I T I T T T I I I T I I T T IITITITIT] | :
\ 0 REAR—X (1) EEAR—Z(2) &l [ T ] [l a] o
\ 316. 56m (95. 751) ‘ 358. 60m (108. 474) — EZ=Ilh—-F7
\ \ | HREEH=5,5000 £ 1 = o
\ [ L ° LHEHEE
o & 0
\ g 2 I
\ o > s | o«
\ ! > ° g °
\ \ o P gl H o
\ © =
\ 0 " ol ~
00 @ |
\%\ |
\\ \ ° \ —HREE0) °
\ ®) o —— Ek WET YT [} @ ol = .
\ - [Navyy—paty 873. 66m (264. 281F) e .
\\ \ 2 _ H=2000 RHENE EH=4,000 ~ .
\ \ 2
\ \ ; WREE 873. 66+106. 25+9. 62+10.10=999. 63ni = 10001 o
\ o » o
\ s - 2
\ L ©
\ @
Vo
\
\ A
\
\ ]
@ : ,
\ R ; el RHENE EH=2,500 - g
Al Y \ 2 _ ; ] Tee B = U 0 j —1 S/
\ o N ; 5 g s\ . : S
W & R & Vo ( ) : I b \
\ @ \ H . . =
EROBROHEHS \ < E =
mk%ﬁ(izﬁﬁg%mzn)(ﬁAUaﬁﬂ
EELF P ET D&
EEBEABABE (£255980200)\ y A Bl
EEAES  EREGAMIBEHARE \\ \ e i KREEEIEE A L CHERE=100
. \
EEAES  EREPAAIMHARE \ == RIS AL CRRE=125
FEEMEHS - REREHEAMALBEHARE \ \\\\ ‘
Mﬁﬁﬁﬁﬁﬂi-?&ﬁ@i’]ﬁ%ﬁiﬁ%k%ﬂﬁ(72‘.2%%9%\0»1Qu> ‘\ 8,300 13,700 3,000 2,500 6, 700 4,200 16, 600 6,780 @ S i ok A 3
CECFER PORPPES Y i N 22,000 39,780 4.820 (70. 4% 3 H3-$ 45 + 712, SR M K P B
(BEMARE (BB ) - _ 74,600 +EHKTH+TI2.5F %P B)
MEEER - BABES vy 58— (B8 - RE) S &
- |4 # ifit -
(BEBKEN - BARE (285950200) (REHA) N S/ Rey, — B kwES (5-2) | aroanen
~ 2 5 Py s X 1200 .3 3 i = AF—LPL-3.2MT
EEEEATRE Sl \@§ﬁ$ HE BBHR HE KBERESME R (RBAH) %8 Az
H12E714868848n (—) ~ - ~ REME = 55.24m KEE = 95.02m B R (FHHME) 70. 83T KR E (7571hbuTRE) avyraty
H12%5%143682%42Nn (2) \\91\\/‘.?70 FREH x 1/50= 1.10m EREMEx1/50= 1.90m NOB (CETBME) 70. 4R HT-8KARIR (7126 KB HH - TRE) H=2000
H12&R14368%458N (2) \$Q@ pom®E = 1. 40mi Bl 0@ = 2.45nf K (EFHEHHE) | TuyFsTL—t
H12£714362842/ (@) S 0.70x0.50x 4=1.40nf 0.70%0.50x 7=2. 45nf B B (ER#MHH) | %7 |

H12&45R14368%45=



